o3

AT

AT

DEN

o3

1EK

(B 2FEYUELXFIOUTILR

DAEQ (FnéH ) — B FHQ(wRAY—E—2R
2
) o1 30 Siid
ot 29 b
HEQ@ U\BH )
AR RO (A
7-21 0 |
1n-a1 1 > 0
5] 82 175
Q) (WA S — R ) — 2
350 66 k=
21-11 0
i DEQ VB
0
— 38 93
B R )
521 19 ko | — R Q@ (AT
2-21 2
12
ZRO(TAY —E—R )  — o1 ©
i3 93 =y l00 133
104
T
20-22 e L[] PO (v A Z —E— R
PO EP Y 2 =T )
—= 39
¥
5 0
5 1B E
oftE HLO (Fad
DO (Fné e ) —
0
— 83 {5
_ 0
153 67
R FAQUVRH
EROD(wAF—E—R )
0
_ 0 ey 40 (721
= e
W@ (FnéH ) ®E RSO Fred




S

KA

LY

I

Ki

(D1 EELXFOVITILR

72O (Fag ) KFE
0
22-24
51 57 1521
12-21 2
21-15 55
26-24 1 — )i
A5 (R L )
0
1 3 &
21- 9
2022 2 1
12-21 2
— 12 22
20
% — (& ILREFH ) " 2 | ! 16-21
Bt sbbg e 4
101
21-16
21-16
——— i
0
14-21
51 1 212
BxOWEPNY2=T )
0
16-21
5] 65 1221
0
11-21
0-21 96 I3

B\ O (e )

SR

s

EED (v AY—E—2R

LiEO R T

BEO g+

EO (/A

— i HEO (R -2

FEO (Bl

)

)



(NhZ2EFUEEFOUTILR - 28

PR RO T ) Bl LB T
S KB @l ) — LS O (IR
IR L@ T ) 12 g b R BE@ L
15- 1 0 2 5-15
B AEQ(EUEH ) — Wl RO (LN
2

8 26 b= =1 37

M RO (T ) — S EHO
e

EW e EQ(ELEEE ) ) WA AR (S3d

15-12 1 _

-1y 27 = = 41 1223
HT  BEOOKEFFRE ) — L mR WO (S
EW  BEO LT SE@ (LA
Vel s 3E@ (inls o AR @ (i
B BRI@ LT ) (Ll

BA KO T EZQ BT
WA IR (L (B 16 (R
WE EROELEEY ) e o 2 I L SOl T
15- 8 0 B 9-15
AE LIBO (R ) — o kB EEOGELT
15-10 2 612
4w o ¢
ik HIAO (T ) ) BE DO OB
0
g sl Lo g
B FIEREO LD ) — MR RO (D
RIS S 45 13
il REOELmSE ) —— L mA QLD
1 .
. S 15 79 o Lo 76 1510 .
A THA@@ELERSE ) = 2 7| T e R D (R
15- 5 1 _
= I El
B L350 @ (s ) = | 0 KT EEO LD
[StEEEN re —1 46 {112
2
EE KO ORI ) R BRI




L iy

ficys2|

Ui,

bk

AR

A

(1

P

Fia i

I}
=

M

v ik

kK

aNl

IR

i

(P)hZ1FEELXFOUITILR - 28

ELRBLD R ) Wi EEO ORGP
D (T ) [£359 15D (FF
EREREY = ERE
0 2
FE— (BT ) T 7 2 _ e LT EFO GBI P
- 0
HEHRD (R L R o NI Bk G
9715 48 2» =1 %9 I
5D (Il ) ] J b= % 3D (B o
N — 96 {30
BEHID (85 L7 i ) ——— T S W RO @R
FHHED (1L ) =2 0 L HE mw-ORE
B2 16 0 .
ERD ) — | - om0 G
i g B = 21 9018
15- 7 0 2 15-17
290D (5 1L U ) — | ey w5 BTO LT
150 2 =] ¢ il
1313 17 °
HIED (L el [ B S EED (B A
e 0n 20
. 2 2
H RO (B ) 128 102 p=ded 103 {3Hf—— A D=
106 ¥
8 e
ENFDEF T 2=7 ) . BrO A (L
-1 22 {1
WD (411 ) . EHH O EO (B
51 86 i3
B2 (R 1L o ) J—— B&W ZEPO T
— 23 {8
0 572D (B e N Ly T O G@RLT
5o L] T %% 1
ED (FEF ) e N o T FHD (CERET
5-13 i— 2 3-156
1 95 k=
=SNGy oo , A D G
53 1= —1 64 1274
D G2 ) ] L A ER—-O\RE
0
-15 0 | | 8-15
pEO@LRE ) 5 8O (S IOl
0
18 195 *1% 24 4713
BEO (KL ) = 0 0 — = 63O (Him
15 54 =1 68 .13
B TO R ) = A G




